Science/fdaTT

Sample paper answers
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C)Displacement
Ans.2 A) Rreafasd
A)Supersonic
Ans.3 =gc&s
Newton
Ans.4 9.8 ms?
9.8 ms™?
Ans.5. a) 3IfAFTA (A) T HROT (R) =il T & T HROT (R), 3T YT (A)HT &I SATE&AT g p

Ans. 6. 319 fohdY &1 (FRUCT )T B3I A UICT SATAT & df &l 3791 TATT T §C SATcll § I 3TH
feZATeT &t & HUT ST5cd & HROT 391 A FTR@d & 51 ShROT 98 S16 317 S71d &

Ans. 7. 518 &T 8 FT &l 3cTest AT
g forar ST 38 afad Fed § | 38 'P' gaRT YaRid T ST §

AT = Faft T 3mqfel/ foram arm wo
P =E/T

Ans. 8.

u=0

t=2 min =2x60=120s
a=0.1ms-?

v=? S=7?

v=u+at
v=0+0.1x120

v=12 ms—’

vZ-u2=2aS
(12)>-(0)*=2x0.1xS
144-0=2 S/10
144=S/5
S=144x5=720m.
OR

Initial velocity, u=0
Final velocity, v=40 km h-

=40x5/18=100/9 m s-'
t=10 min =10x60=600s

a=100/9 ms—" -0 m s —'/ 600s



a=100/9 x 1/600

a= 1/54 = 0.02 m s

Ans. 8.

u=0

t=2 min =2x60=120s
a=0.1ms-?

v=? S=7?

v=u+at
v=0+0.1x120

v=12 ms-’

v2—u?=2aS
(12)>—(0)?=2%0.1xS
144-0=2 S/10
144=S/5
S=144x5=720m.
OR

Initial velocity, u=0
Final velocity, v=40 km h-"
=40x%5/18=100/9 m s—*
t=10 min =10x60=600s
a=100/9 m s—"' -0 m s -/ 600s
a=100/9 x 1/600
a= 1/54 = 0.02 ms™
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Ans.9. Although we use the words loudness and 'intensity' as synonyms, they do not mean
the same thing. Loudness is the sensitivity of the ear to the sound but intensity is the sound
energy passing through a unit area in one second. They have the following differences-
Loudness

1) Loudness is a measure of the sensitivity of the ears to sound.

2) The loudness of sound cannot be measured.

3) The loudness of the sound may be different for different observers.

4) The loudness of the ultrasonic and infrasonic waves is zero as these are not audible.

Intensity of sound

1) Intensity is the amount of sound energy passing through a unit area in one second.
2) The intensity of sound can be measured.
3) The intensity of sound is same for all.

4) Ultrasonic and infrasonic sound waves may have intensity.
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GcddATT, m= 10 kg
HGHT U TG T GedHTA,m= 10 kg (SETATT [FU T 8)
g2dl I HR ,W=mg

=10x 9.8

=98N
TGHT I AR, W= mg,,

(9n=9/6)

=10x 9.8/6

=08/6

=49/3=16.3N

Answer. 10. We know that
M; M,

(i) when the mass of an object will be doubles then the gravitational force will also be
doubled.

(ii) if the distance between the two objects is double than the new force of attraction will be
1/4 times of its original value;

On the other hand, if the distance between two objects is triple then the new force between
them will be 1/9 times of its original value.

(iii) When M, and M, are double, F will will be become four times its original value.
OR
Solution. 10. Weight of the object on earth m=10 kg
Mass of object on the moon m= 10 kg ( Mass remain constant)
Weight on the earth
W= mg
=10x 9.8
=08 N
Weight on moon
W=mg,
=10x% 9.8/6
(9m=9/6)
gm =98/6
=49/3
=16.3N

3/ 11 C)dedr ¥

Ans 11 C) increases

3 12 B) e
Ans 12 B) positive

3 13) 3gfad veifergs 3,
LPG



ANS 13) Liquid petroleum gas
LPG
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Non homogenous
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C) Assertion A is true but the
Reason R is false.

3 16. 3 H SIc-Oic W ald ¢ | a8 g3 & 317 3o RAar Igar § a8 W®|d EU STel T HTE
& 927 @Y 11T § forgenT Il @ arsue giaT € | arsuel & 38 3cUeT glal &

Ans 16. The pots have small pores.The water filled in the pots keeps coming out through
these pores. The surface area of water coming out from the pores becomes very large,
which evaporates very quickly. We know evaporation produces cooling. As a result the water
in the earthen pot becomes colder.
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Ans.17. The atomic number is denoted by 'Z'.
Atomic Number=3
p(proton)=e(electron)=3
e=2,1
Valency will be 1.
Element Name=Lithium
Or
Mass numbers of X =6+6=12
Mass numbers of Y=6+8=14
X and Y have the same atomic numbers but different mass numbers .
They are isobars.
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Ans .18

.a) Saturated solution :
If on adding the solute in a solution at a given temperature it does not dissolve then the
solution is called a saturated solution. Different substances have different solubilities at
different temperatures .

b) Pure Substance :

A pure substance is that which has only the same type of particles (atoms, ions or
molecules). Pure substances have fixed physical and chemical properties.all elements and
compounds ( covalent or ionic ) are examples of pure substances.

c) Collide:

It is a heterogeneous mixture in which the size of particles is between 1nm and100 nm which
cannot be seen with naked eyes. These particles are of such a large size that they can
scatter the beam of light passing through their solution. These particles do not settle at the
bottom but can be separated by centrifugation technique.

Or

Homogeneous mixture:

1. Its components are equally distributed.

2. In this the properties and composition of fictions are the same.
Example - brass, bronze , sugar in water , water in alcohol , air etc.

Heterogeneous mixture



1. Its components are not equally distributed.

2. In this, the properties of the fractions are different from each other.

Example - sand particles and iron powder, sand +ammonium chloride ,chalk in water ,oil in
water etc.
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Ans.23. Carbon dioxide.
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Ans. Both assertion (A) and Reason(R) are correct and Reason (R ) is the correct statement
of Assertion(A).
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Ans.26. Mitochondria is known as the powerhouse of the cell. It is the site of oxidation of
food in the cell due to which a large amount of energy is released during respiration. That is
why it is called the energy powerhouse of the cell.
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Ans.27. This stomata exchanges gases with the atmosphere. The process of transpiration
also takes place through them.

OR
Answer. 27. The muscles of the hurt show rhythmic contraction and relaxation throughout
life. It is responsible for heartbeat and plays a role in circulation (pumping) of blood in the
body.
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Answer. 28. Muscular tissue is made up of long cells, called muscle fibres. It is responsible
for movement in our body. These are of three types: voluntary muscle, involuntary muscle

and cardiac muscle.

Voluntary muscles

Involuntary muscles

Cardiac muscles

1. They are often joined
to bones.

2. These are voluntary
in nature.

1. They occur in walls
of hollow visceral
organs,iris of eyes
and dermis of skin.

1. They occur in the
heart wall.

2. These are
involuntary in nature.




3. They have light and 2. They are involuntary 3. They do not contain
dark bands that is in nature. light and dark bands.
why they are called 3. They do not contain 4. They are branched
striated muscles light and dark band and cylindrical with
fibres. so they are also nucleus and

4. These are long, called non striated branched.
cylindrical muscle fibres.
unbranched, and 4. These are
multinucleated. tapering,long and

uninucleated.
-
=4
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Answer. 29.



Manure

(i) They are made from decomposition of cow dung and rotten plants.

(i) This is mainly organic matter.

(iii) The amount of nutrients like nitrogen, phosphorus and potassium is low in these.

Fertiliser

(i) These are chemicals prepared artificially in factories.

(i) These are mainly inorganic substances.

(iii) This mainly consists of nutrients like Nitrogen, Phosphorus and Potassium in high

amounts
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Answer. 30.

Difference between plant cells and animal cells:

] - A=
’L“J l Centrosome
o o o S—
3 0 0 , Ce" ‘Ha” CE‘” wall
oo 0 Cell membrane Cell membrane
(=Y
1] Golgi bodies Golgi bodies
oV, \Nuc!eus Nucleus
0” |
= \ Nuclear Nuclear
a i membrane membrane
i =~ Mitochondria Mitochondria =% ...
L Vacuole Vacuole
Chioroplast B
Plant cells Animal cells

(1) The cell wall is also present on the outer
side of the plasma membrane.

(2) Green pigments are present in it.

(3) Vacuoles are large and prominent.

(4) Centrosomes are absent in it.

(5) Cell division is initiated by the cell Strip.

(6) Golgi bodies are made up of
different units called dictyosomes

(7) Calcium oxalate crystals are always
found in plant cell.

(8) Photosynthesis takes
place in them.

(9) They are usually of large size.

(1) Animal cell is surrounded by a fine
membrane called plasma membrane.

(2) Chloroplast is absent in it.

(3) Vacuoles are either absent or of very
small size.

(4) Centrosomes are present in it.

(5) Cell division takes place by the
formation of grooves.

(6) Golgi body is present.

(7) Calcium oxalate crystals are always
absentin it.

(8) Photosynthesis does not take place in
these cells.

(9) They are usually of small size
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Answer . 30. Difference between prokaryotic and eukaryotic cells:

Prokaryotic Cell

Eukaryotic Cell

1) They are usually small sized.

(2) They lack membrane- bond cell
organelles like endoplasmic reticulum,
lysosomes, mitochondria, etc.

(3) There are 70S ribosomes in them.
(4) Chromosomes are made of DNA and
found in the cytoplasm.

(5) In these, the chromatin material is not
bonded by membrane.

(6) Nucleolus is absent.
(7) They have only one Chromosome.

(8) Cell division takes place by budding or
fission method.

(1) They are large sized.

(2) All the organelles bound by membranes
are found in the cells.

(3) Ribosomes are of 80 S type.

(4) Chromosomes are made of DNA and
are present in the nucleus.

(5) Nucleus is wanted by the membrane
called nuclear membrane.

(6) Nucleolus is present.
(7) They have more than one chromosome.

(8) Cell division takes place by mitosis or
meosis.




